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Fix some parameters of IPCHI2 model
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Fit result
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Fit result
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Fit result
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log(x7) modeling

e Bukin function, a modified Novosibirsk function with extended tail

parameters
r 4
(x—2x1 )€ £€241v2In2 Xy \ 2
exp ¢ 5 + p p—xll —1In2 x < xq,
(e uymn }

-,

p; 2
In (1+25 5%1%)
[a n
P(xip, 0,8, p1,02) = £ exp { — * In2 x| < x < X9,
In (1+2g2—2s £2+1)

(x—x2)er/ €24+1v/2Tn 2
exp <

WECEREED

xx=p+ov2In2 £ —1
V& +1

X =p+ov2in2 £ +1
VEr+1
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Turbo selectionfor 22 >  p K~ K~ rn*

Items

Cuts

Daughter p

(TRCHI2DOF<3)

(PT>500.)

(P >10000.)

(PIDp > 10.0) & ( (PIDp-PIDK) >5.0)
(MIPCHI2DV(PRIMARY) > 4.0)

Daughter K

(TRCHI2DOF<3)

(PT>500.)

(P>1000.)

(PIDK>10.)
(MIPCHI2DV(PRIMARY) > 4.0)

Daughter =

(TRCHI2DOF<3)

(PT>500.)

(P>1000.)

(PIDK<0.)
(MIPCHI2DV(PRIMARY) > 4.0)

MotherCut

(VFASPF(VCHI2PDOF) < 10.0)
(BPVDIRA > cos( 0.01))
(BPVLTIME() > 0.0001 )
(BPVVDCHI2 > 10.0)

CombinationCut

(in range( 2386.0, AM, 2780.0))
((APT1+APT2+APT3+APT4) > 3000.0)
(AHASCHILD(PT > 1000.0))

(ANUM(PT > 500.0) >= 2)
(AHASCHILD((MIPCHI2DV(PRIMARY)) > 8.0))
(ANUM(MIPCHI2DV(PRIMARY) > 6.0) >=2)
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